55,

PAPER - II (COMMERCE)

JAD agreement which is enforceable by law at the option of one or more of the parties butnot at the option of the

or others” is called :
?;;ler Void contract (2 Validcontract  43)  Voidablecontract (4) Illegalcontract

g AT ST ek A1 37fereh el 3 forarea T faf g waksfar dven & fefeg 3171 20 371 3 farehes o e

1" e § . .
?waﬁa @ Sy g @) (T (4) Ay s e

The System where two or more banking companies are &Qngfolled by one or two individuals is callled :
() Chain Banking  (2) GroupBanking  (3){ Mixed Banking (4)  Bunch Banking

"2t womett, T < = nfre St s, v < s gr Frefa S € wear @

O cfEEEE @) wE O fPm i @ IR

Arrange the phases of capital expenditure/Investment plaﬁning and control from beginning to end.
A Evaluation of the net benefits @

B.  Identification of Investment opportunities. @

'C Development of forecasts of benefits and costs. &)

D.  Authorization for progressing and spending capital expenditure.
E.  Control of capital Projects.

it o/ 7o Aot 3R Frisro 3 <ol 61 st § 3ia % srafierd i ;
A e e o e
NI R G

o SR T o YA o e
ISt =3 W e SR i gfs & g it
E IS0 aRErst ot fasm

Choose the correct answer from the options given belo
A o T formredt # W < = #if
() ACDEB .2 B,CADE (3)~"A,B,C,D,E 4 BAD,CE

Which is not a key element of consumer

-}

ST

o N

psychology and pricing ?
(1) Reference price ) :

Price indifference band
()  Image pricing (@)  Pricing cues
H-T0 SR T SR e U Y e T 2
0 Sigeam 2) T FFREE S 2} D
® e @ FTEEm
Arrange the steps in Decision making by a business firm in]ast to first order : " D = A Bn
Exploring available alternative B.  Performing sensitivity analysis
Determining Objectives ' D.  Chgosingbestalternative
Assessing consequences of various alternative. r1 :
 Torett v el g oot o 3 ot e @ WUH AR H afer i
A e fosedi T e FEn B. ik
C S freaRo s D.

B fafum= faeredi % wRomd 1 sterem s ey
Choose the correct answer from the options given below:: -

e 1
T ferw T fereredi 8 T8 IR 1w w4 :
(1) A,B,CD,E @ B,AD,CE @) EACD,B \(ﬁ B,D,E,A,C
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Arrange the following financial institutions according to the order in which they were establisheq

A NABARD B. NHB C. EXIM Bank D.  SIDBI E I (
ortferfr e et ) SR ST o A 8
A FETS B. Tl C fferere 4% D. fasd E. Bﬂ‘s*aﬂm\

Choose the most appropriate answer from the options given below :

ﬁmmwﬁ@mwmﬂwammz
1) ECABD (2 AGCDBE 3 BACED 4 CBD,AE

-
“ An organisation that carries out its activities notin one central place, b}lt rflfhel‘ inmultiple locations by suppli,
and partner firms as part of strategic alliance ora larger “Supply Chain” is termed as :
(1)  Collateral organisations (2)  Network organisations
(3)  Virtual organisations (4)  Typical matrix organisation
T TS W) AT FRaTReTT R T eid T R e afes aglay T O, I TS 71 R fi
" rgfe sjwen’ % T % B H anqfiaaial SR EER W GRI TEA HEl € HEard & ;

(1) GHRES G1ea , 2) e g

() MY e (@) YEfed g e

Which one of the following has given the Net Income approach of capital structure ?

(&, Durand (2) Walter (3) Gorden (4)  Modigilani-Miller
frefafaa & 9 frea goi T & fraa o 3aH fean €2

1 & 2 AR @) e (4) wfsfieam-fier

Which of the following are merits of NPV method of capital budgeting ?

A.  Considers all cash flows. .~

B. Consider the time value of money..~

C.  Givemore weightage to future receipt.7

D.  Satisfies the value additivity principle. +~

E. No relation with the wealth maximisation principle?*

Choose the correct answer from the options given below :

(1) A,B,Conly (2 CD,Eonly (3) B,C, Eonly 4 A,B,Donly
frrefafad § 9 -8 ISt srore =t et (freer sdam gea) fafr o E?

A UK U&hs Ya® R =R #a & ,

B. Tl % 99 U R foum o §

c  Wfasa Wifta Al o1fires SR/ 7o Wer v &

D. HeA-Ahal f9gid F e e §

E. WO SRAHERY fagid 9 w1 day Te

i fow T faehedl & Wt s B W i

(1) #SAA,B,C () HEIAC,D,E 3) eI B,CE 4) HIAA,BD

18 008
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61.

7T T T forredt # 9 S = i

62.

1n which book Alfred Marshall has for the first time used the term/ word "Ig_nﬁg_fTr_ade_” ?

(1) Money,Creditand Commerce (2)-  Principles of Economies

@ TheEconomics of Industry 4)  OnRent

fors TETR  STCRS WICT 3 TR YRl e/ VIR ¢ Ry el e el fehe e ?
@ T, ez v wind @  fifouey it g

o R o e 4 s

Assumptions of the law of diminishing marginal utility includes :

A.  Rationality B. Suitable units

C.  Cardinal utility D. Commodity satisfying differgnt wants

E.  Introspection
Choose the correct answer from the options given below :

() A/BandConly (2) B,CandDonly (3)- A,CandEonly (4 C,DandEonly
T i ST 35 P 3 qeemoni # i # -

A R B. ST wHEAl

C AN STAIfT
E 3refeo

D.  fafir= strreasharsl =1 Hqw FT1 3l a5

() %aABIRC () FIwB,CIARD 3) é?aaA,céﬂTE @),

Which of the following is/are the principles of General Agreement on Tariff and Trade (GATT) ?
A Tradewithout discrimination. B.  Protection only through Tariffs.
C  StableTrade. D.  Consultation.

E Unfair distribution of wealth t

Choose the correct answer from the options given below :

® ABCEonly (2 ABCDonly (3 BCD,Eonly P N
Fretfefiem 4 @ -3 e SR ot smr aeehy () ¥ g 9 a0

A v IEd =R - W%ﬁ**mwﬁﬁmm
¢ TeRETm pD. T Py
E wueroh e/ iR-Frove feramor ;
ﬁmmﬁﬁﬁﬁ%@wwwmz

() Fa@ABCE (2 %a@ABCD () B CDE (4 Ha0ACD,E
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63. Match List - I with List - IL.
. List-1I
List-1

' i isk and rewards incig
i The lessor transfers, substantially all the risk an
8 = Sihangellesse ’/’I% the ownership of the asset to the lessee.

enty) t

B Operating leaser.-— . I Thelease under which a lessor owns/acquires the assets that are leage q
. periine RN to agiven lessee,

D.  Directlease

C. Sale and lease back Z’I}I The_}esgee sell an asset for cash to prospective lessor. 3
j‘y_ The|lessor does not transfer all the risk and rewards Incidenta] ¢,

owrﬁer_shjp of the assets,
R - 1 e gl - 11 e r
e -1 2
A fyadw L mm%wﬁa@ﬁmﬂﬁﬁﬁmﬁwwﬂwﬂmg
IO STt Y B e |
B. YN Wi I Qﬁ?ﬁﬁﬁ;ﬁ@?ﬁaﬂ,wwmﬁ?ﬁﬁmanﬁwﬁﬁm
i/ 3 T |
C  fomt ol o g mw,#wmaﬁméﬁmﬁmﬁmm%
D. Yo Iv. %ﬁamaﬁqﬁ%mﬁa@ﬁf&amﬂ%ﬁ@@:%ﬁ?ﬁaﬁ
| Wﬁg%ﬁl
Choose the correct answer from the optxonsévén below :
S few T feedt Qv < o

\ /({)/ ' ALBIV,CII,DI
() ALBI,CILDIV

({@® AIV,BLCI,DI

%a«*(é) A-II B']]Ir C'IV, D-II
‘%

@ Under which sections of the Centra}_(jgods"{;ﬁ”f Services Tax Act, 2017, the provisions of Input Tax Credit has
been provided ? - e = i
) y Section 12 to Section 15 (@) Section 16 to Section 21
(3)  Section 22 to Section 30 (4)  Section 31 to Section 34
T AT R F IR Hufrm, 2017 % firg mﬁmmmmmmamwﬁy
(1) w129 €15 @ uR16d W2
@) UM2¥YW30’ 0@ em319umse
| N
@ Z(\:’;Z ;?;eiiin{}?i f}f?;gcli;i :éi?%&%l;%\ studies human behaviour a5 5 relationship betwee%“nd
(1)  Marshall @ Pgu (49 @  Robbins @)  Keynes

TR srefemen 2t forgm, 'wwmwwmmwaﬁmﬁwwﬁwmﬂ
ST F 8, F 9 4 ety frar s Y

(1) " Rfa @ W . . @ T @ g

20 ' 008



2

67.

68,

Which of the following assumption is of Net Income Approach of capital structure ?

A, Costof debtis less than cost of equity. v
B. There is no tax. «~
C.  Riskperception of invester will not change by the use of debt. v’
p.  Change in capital structure of a company does not affect market value of the firm. x
E.  Thebusiness risk will remain constant at every level of debtand equity mix.
Choose the correct answer from the options given below :
() A Bonly 2) D,Eonly ' @) ABConly @) C/D,Eonly
Fﬁm%ﬁaamwmaﬁﬁmﬁﬁgaﬁﬁaﬁa _it qeemomd € ?
A el Gl AR, 39 A ANE 9 FHH B
B. aﬁé & Tl % |
C ﬁ@@ﬁﬁ@maﬁ%mﬁn@qﬁaﬁa?ﬁﬁl
D. ﬁmmaﬁﬁﬁmﬁqﬁaﬁwﬁ%mﬂqwﬁwﬁaﬁm%l
g et ol 379 fagr & Yo W O e sifgd e W@
9 few e foreredl 9 W& ST I A B : «
() WA,B ) 91 D, E 3) *adA,B,C @) HIAC,D,E
Which of the following are quantitative credlt control methods ?
A.  Bank Rate Policy B. Open market Operations
C.  Rationing of credit D Margm requirements
E.  Variablereserveratio
Choose the correct answer from the options giv Jow: "
(1) A,B,Conly @ GCD,Eonly. *<x3) A,BEonly 4  B,C,Donly
Freaferfa & & FF-<h HETeEeR e e fafeai 2 '
A SRR B. = e SSIR YT
C T ] TS/ T ST D.  HHid SR
E  UfReEdeiter STREl STurd '
R fe o ferpedi & 9 T S 1 I
() FeA,B,C @ HFCD,E (3 HAA,B,E ' @) *EEB,C,D
lz_rr_aﬂgg the provisions section wise under the Compames Atct, 2blS in ascending order.
Prospectus B.  Incorporation of company C. Articles
D. Formation of company  E. Service of;p(§¢uments
FR srfufrm, 2013 & i SqsE) Y um—aﬂaﬂﬁﬁ%‘q T e #Y
A faerfowm B. el el fEA C.  IF=R
D. ot w1 o E owmEsi o &/ gEh
Choose the correct answer from the options give"i'; ,Igglow :
e e e faenedl H | Wl SR 1 9= Fife :
() B,ACD,E @ EGCBDA (33/ D,CB,EA 4 ABGCDE
21
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‘b ices ?
69.  Whatis not a distinctive characteristics of S;IEiIV e i @
A Tangibility (2) Inseparability

. . ferdioral 7Tl & 2
ettt # & it ft el = fafere : @
O Wem @ fewde Q)

ing thi 5167} Who said this ?
\@ “Management is the Art of getting things done through peop Ty
) (1) Peter Drucker (2)  Mary Parker Follett )N g

tcwmw%mmwﬁm%f'%qu%?

1) xR @ TR e e st 3
71. Match List-Iwith List 1], '
List-I List-11 p—
Theorem . Formula Yt ¥
.,on _ P (HinE)
A. Theorem of Addition L P (Hl/ E) o P (E)

B. Theorem of Multiplication II.

C  Condinal probability ‘ 1L
D.  Bayes' Theorem Iv.
W-I%mavj}-nmﬁmﬁﬁﬁm:

-1

ELe
A AMyEY I

P(E{ nE
B. g ¥ L P(Ey/Ep)= ‘(;T)‘Q
_ 1

C.  wifgehar fasid I PE; u E2)=P(E1)+p(E2)
D. WA V. PE; E2) =P @) xp g,)
Choose the correct answer from the options given below -
aﬁmmﬁw&mﬁwwwﬂm: @)
(1)  Am,BIV,CLDII @ Ay, Bﬁ“& G, D
() AmLBIV,CI,DI @) AIVBLCH Dy

b
5
: zf‘.dﬂi«w."l

Perishability

faeeTa

(9)  HanriFayo]

@) o Er

X ; @ﬂ ey,
6 h " ;
If two re i -efficient are byy = -2 = £l v
@ gL ession co Y 9 and bx; el Which one of the following is the value of

correlation ?

y Chy
. 6 3 el
b S =—— b S - 3 * o
S S T TEATIH by 5 by =L ﬁﬁﬁqqumm%7
(1 .2857 . @ -535 (3) .5345
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73

74.

75.

76.

Match List - I with List - 11,
List-1I

List-11
Ind As
Related
A g\lg ﬁ: B ; L Revenue
B. Ind As—ip . Property plantand equipment
C ind As.1 — III.  Inventories
D. s-18 7 Presentation of Financial statemer\t
et - 1% W Gl - 117 vt i - N
CSIR et -11
Ind As Hae]
A IndAs-1 I RS e £\
. IndAs-2 oL §ufd, 945 3 3yt
c IndAs-16 I HAegfear .
D. IndAs-18 v. o foreror =t ‘,T{ﬁﬁi ‘“
Choose the correct answer from the ophons given below :
F= fag T fosredi H & W& SR 1 997 Fife
1) ALBICIL DIV A2)  A-IV,B-I,C-1I,D-I
() A-ILBIV,CI, DI 4  A-IV,B-III,C-I,D-I

A particular combination of product, its price, the methods of promoting it and the ways to make the product
available to customer is :

() Market () Marketing _3) Marketmg mix (4) Marketsegmentation

T TR g foed 3ae, ot 4o, 39 wuaﬁﬁﬁxﬁw@waﬁmmmﬁﬁﬁfﬁﬁmm
g

(1) ¥R @ oo €)

@ R faEea/ e

The minimum capital prescribed by the RBI for starting a new. si;?;\a]l financial bank is :

(I) Rs.100 crore (@), Rs.200crore (3) Rs.10crore (4)  Rs. 1000 crore

T Tl 7] ferefiet ek o et % T RBIgW fafea =g st & -

) 100FISE. (@ 200FTE @) 1SS @ 1000 FUSE.

Who has stated this “Performance appraisal too often degenerates into a dishonest annual
rituals” -

n Newton and Findlay . (2 Armstrong and Murlis

() Barlow @)  Grint

TR o formramt © ¢ FoaTe oo SToRR Uk SEHM/ STEeTerRl S orsm # uftola &Y st 17 2

M) =g iR e (@ ST SR

@) ol @ fie -

b Which of the following is/ are correct about free consent when 1t IS not caused by ?

A, Coercion B. Undue Inﬂuenc fuud C. Fraud

D, Misrepresentation E. Bailment §

Choose the correct answer from the options givenbelow: ¢

(1) A,B,Conly 2 B,C,Donly B AB,C,Donly (4 B,C,D,Eonly
ﬁmﬁmﬁﬁﬂq—%w/mm%aﬁﬁw%ﬁaﬁgﬁqﬁﬁaﬁmmm/wﬁa?ﬁ@?ﬁ%?
A <IE/EE B, smfaavaE | C. et

D. e frego/ e TEf E  Suftum

N e T el © @ W@ S S =4 Hif
() ¥aaA,B,C 2 FEEB,C,D (3 FIAA,B,C,D (4 Ha@B,CD,E
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(@ What are the two numbers whose arithmetic

mean = 18 and harmonic mean =167

(1) 20and 16 (2) 30and6 (3) 24and12
R Tt 1§ TR s e = 18 3R S e =168 2
1) 20816 2 3036 (3 243R12
79 Match List-Iwith List - 1I. . =
List-1 List=1I
Heads Section
A.  Agriculture Income L Section 10 (13A)
B.  AmountReceived on I Section10(11)
voluntary retirement )
C.  HouseRent Allowance II.  Section10 (10 CC)
D.  ProvidentFund IV.  Section10(1)
Gt - 13 T i - 11 1 e hife :
el -1 gt -1
oited &
A T I HR10(13A)
B. Wresdafgiwyaufn I #W10(11)
C.  31arg feRtrEn s Il YRI10(10CC)
D, wfeaer ffy v, =il

Choose the correct answer from the options given below :

ﬁ%ﬁﬁmﬁmﬁ@uﬁwmwﬁﬁq:f“

(1)
(6

Ejy Which of

A : :
B  Ttisa process through which international payments are liquidated by different countries.
C. Itindicates therate of sale and purchase of foreign currency.
D Foreign exchange situationinone countrjgggs not indicate the strength of the economy.
, i iven.below :
Choose the correct answer from the options given.pe
(1) A,BConly @ BCDoly ¢, AGDaly () ABCD
- ﬁmfaf@aﬁ@a:h-mfa%sﬁfaﬁqﬁ%w@f?mm??
A ﬁwaﬁmﬁﬁﬁ%mmﬁﬁﬁ?ﬂ“ﬁfw wifies ezl fafm = <l €1
B. ﬂ%@m%fmﬁ?mm“ﬁﬁfwéﬁﬁmmﬁ&ﬁ?mmmm%,
c %ﬁ%ﬁw%maﬂ?ﬁmﬁaaﬁmﬁ
D.  TE I fe fafa 1 el steforereen AW T quid €
- < g T foreped H  wt SX I 9 HIT ;
1 g BT
(1) 9 A,B,C @ 9dB,CD () %adA,CD 4 ABGCD
Y
24

A-IV,B-III, G-I, D-IT

A-L B-II, C-III, DIV

the following co
Itis used to denote therateatw

A2 AV, BT, CIL, D1

@ AJILBLCIV,DI

()

“)

mes under the signﬁicanWeM
hich different monetary units are exchanged.

22 and 14

22 AT 14
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81.

82.

83,

M ALBLCIV, DI

Match List - I with List - I1.

List-1 List-11
International Business Meaning
Approaches
A Ethnocentric Approach 1. Companies establish foreign subsidiary and em power their executives
B Polycentric Approach IL. . Thedomestic companies view foreign market as an extension to domestic
markets

Regiocentric Approach  1II. » Companies view the entire world as a single country
Geocentric Approach IV. # Subsidiaries consider regional Environment for Policy strategy formulation

C
D.
geit - I |1er gt - Il?ﬁTﬁﬁiﬂw

ﬁiﬂ' 1 '{:Eﬁ I

A WWW L ¢ jﬂ:ﬁﬁﬁﬁaﬂmﬁmwﬁam%aﬂtm?ﬁwmf
B SEIEEAI ST L oRe U, el arer i wie] ST o for 36w f Y ¥

C.  Shlwehdl UFH 0L Sl |yl fave o uea 9 % o9 8 Sl §

D.  S[ehi=ehdl SYFH V. ST geEat iy worifa Fmi ¥ fo Seita it @ faam s §

Choose the correct answer from the options given below :

e feu T forhedl ® 9 WE ST 1 T9H FIT
(2 A-LB-I,CIV,DI
@  A-IV,B-I,CII,D-II

() A-I,B-IL C-I,D-IV

in’ quahtatlve research in the proper sequence :

A, Reviewing of literature. ¢
B.  Identifying a research topic. ém
C  Setting the purpose and selecti
D.  Writing the report {77 ﬁ C & D
E. Data collection and data analysm

mﬁa@ﬁmﬁmﬁ@aﬁwﬁraﬁsﬁamﬁm&aﬁaﬁ
A Hifg =t geten

B. iy foug =it vg=m

C 3w w1 T o whrnfimt =1 wem

D. Rur dreH

E <O gaer iR <9 fagemm

Choose the correct answer from the %phons given below :

‘ﬁﬁﬁqmﬁaﬁﬁ@vﬁwmwaﬁﬁq

f participant.

N)  AB,CED @ cABbE 3 CBAED 4) _ B,ACED
% f‘) # & ’ 4 4 '’

Under section 44 AB of Income Tax'?}\ct} audit is compulsory if a person is carrying on business, whose gross
tumover exceeds : i & _
(1) Rs. 60 lakhs (2 Rs.1. Qcrore (3)  Rs.50 lakhs (4) #» Rs.2.0crore

Waqfuﬁmﬁm44AB%aﬁmﬁmm%ﬁWwﬁmmwﬁamwzﬁwm§a
Tt frreferiaa & eifee # - :
@ 60w TIT @2 1.0FS I (@) 50 9@ Tqu @) 20FISTAQ
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84. Arrange thefivevariables of inter-relationship under the model of the Expectancy Theory of Motivation propoung,

by V.H. Vroom.
A Individual Activity

B. Individual Performance C Organisaﬁonal Reward

D. Individual Goal E. Organisational Goal

CiR A GG RRUE ﬁ@m%mmﬁmﬁm siqrgaed & e T F Ty,
EO¥

A, s AT p, I ¥ ¢ e TR

p. oA & g HES A8

Choose the correct answer from the options given below :

ﬁﬁﬁmﬁﬁﬁﬁvﬁwmwﬁﬁq;

1 ACGDBE (2)(/. A,C,B,D,E 3 BACDE 4 CADEB

If an average 2 customers arrive at a shopping mall per minute, what s pr obability that in given minute exacth
4 customers will arrive ? e~2=.1353 |

fﬁ;ﬁﬂ%ﬁgﬁrmaﬂmzmqﬁﬁa‘rﬁaﬁmmﬁaﬁ%4mﬁ%ﬁaﬁ?ﬁ?WW%?

(1) .1804 @ 0902 @) 1353 @  .2706

86. Arrange the following procedure of e-filing of income tax retum‘in'proper sequence
A, Login . B.  Register
C o pe . ¢ Quny
Verification D. Downloading utility and preparing return
E.  e-filing Income Tax Return

st e #Y - wmfel/ SR i it frefafed wiswan ) sted e 9 sxaftad #Y

A A B. Uil
C.  H \

. D. e SIS FE 3R i "
E. s | DT ﬁz:? 3‘—"5]3%1 G | e ﬁa:f a-qT{ (

Choose the correct answer from the options given below :
| et fou T el & 9 W I A W v
A1) B,ADEC 7((2) A,B,CD,E

@ B,ACD,E
s Uy q

= Of e i ] H

e Ric 9 e
¢! 19.86% qu?l%qﬁ ~qH W 6 i, R Sifeam . __R:ﬂ_:?entandbetaxsl.&l
86% 2 A48% g'ﬁ]q’q .gﬁ_.l a’:'a154%7
[/’ 15 2 548% () 1446% & ke

Y L .
il (4t % M, (eri-FF) & o
C & (54 <°"67 <

A
[q.8¢7 - 3
y




>

Match List - I'with List-II.
86 List - L List - 11
Theories of Motivation Propounder
A N eed Hierarchy Theory - L Clay Alderfer
E.R.G. Theory IL Sigmund Freud
Psychoanalytic Theory — . Abraham IH. Maslow
D. Two-Factor Theory .___p’ Fredric I:Ierzberg
@-Ié?mqqa"f-nwquqaﬂm: .
a1 e
sifiriom & R g
L ST HrR s A SRS
5 Semsh. i n femsmEe
c et e I STHIEH T, e
| p g fasid Iv. el gstert
| Choose the correctanswer from the options given below :
23 fe e foered] B & WA ST AT T HIC

@) AJILBLCI DIV

(1) AIBLCILDIV*
se(t)  AIV,BLCIL DI

@ AILBILCLDIVL”

§9. Non-collusive oligopoly models include:
A Cournotmodel
C.  Edgeworthmodel
E  Marketshare model

Choose the most appropriate a
(1) A,BandConly (2 CD and Eonly

B. Pﬁce—leadership model
D. | “Bertrand model

nswer from the options.given below :
3) A,CandDonly 4) B,DandEonly

S STeaTeRR Tiee § wfrfed € :
A HICCHISA
C U Higd

E oK federl disa
3 faw T forspedi H § R STIE ST H1 B HIWC :
) F@ABIRC (9 FAWCDIME () WA,caﬂID 4) HaaB,D3ARE

9 3 ..
@ Which of the following is substantive document used in foreign trade ?

X;) Commercial invoice (2) Certificate of origin
) Billof exchange (4) g#~Inspection certificate
= . g 4.4
P ferfea ﬁ@mmwﬁmw.ﬁmﬁﬁ%?
D e - (2) o S -
G e @ ¢ - :
1 . - . S
@ Which one of the followin i i e '
g Provident Fund is set &p under the Provident F
. und Act 1925 ?
/g; Statutory I"rov1dent’ Fund (2) ~=Recognised Provident F::nd ok
Unrecognised Prov1den? Fund ) &;gjblic Provident Fund
Wiy fifyy sifufram 1925 % Sfwia frefafaa - wlae fify et =6 w22
() Senfrer wiow ffy @ AR wfes fafy '
@) - ya e ffa @ Tk wlas fify
Y ,
: 27 '
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=5, 5
Which of the following is properties of standard deviation (0) ?

Ox
+K=""
A, o,+K=0y B. W-K=%_K c x K
D. o,xK=Ko, E  oyX K_= Ox
Choose the correct answer from the options given below : ¢ @ BCEo nly
(1) A,B,Conly ) CD,Eonly @ ACDonly
forfirfis & QA SH-Q T foreer (o) 3 o €7
A o +K=g, B. o —K=0,-K C ‘ B tea g
D. o,XxK=Ko, E. o, xK=0,
A T T forehedl & § e S = hif :

1) ¥EABC (@ IW@CDE (@) F@ACD. (4 FHBCE

93. Who has given a new school of thought known as the ‘Principles of Management’ or the ‘Mana ent Pro
- e = " - }

School’?

(1)  Mary Parker Follett ()  HanriFayol (3)  Luther Gulick (4)  Peter Drucker
fora ' wele % gl o yeivm wiwar o’ & T A vEiad T TE TR v e 5 R ?

1) B IER R @ TR e @) g (4) dietgM

4. ) Match List - I with List-1II.

List-1 List-1I
Contents/Provisions - . Discussion/Provisi
under the Central Goods
& Services Tax Act, 2017 .
A, Levyand collection of Tax - L Chapter-VI {_
B.  Registration 1L Chapter - IIT
C.  InputTaxcredit O.  Chapter-X
D. PaymentofTax IV.  Chapter-V
[ - 13 w1 Gt - 1 e sifor
et -1 , -1
FEg U aﬂrﬁiirmarﬁsrﬁm, axmrq‘fﬁﬁa'ggr/mm
2017 e A& Sqaiey : ~ ' 0
A AN AR Heher L STEE-VI
B. EEiEZU| o ™ -1II
C  FIgEHRIHfee M M- X
D. FHEH _ V. 9M-V
Choose the correct answer from the options given below —
=t faq g faehedl § A HE ST H w7 iy - O
(1) A-ILBLCILDIV . (@ AILBLCIV,DaI
@ A-IIL BT, C-IV, D1 4  A-IV,BI,CII, D
Y (! 28 _ ' : 00¢



95.

96.

97.

0 Financial Enterprises, dividend paid are showing which one of the following activities of Cash Flow

mtement ?
() Operating activities (2)  Financing activities
~(3) Investing activities (4)  Operating and Financing activities both
W’mﬁﬁ’ mmwmmmmﬁmﬁ%ﬁﬁ@w—mwm@%?
1) CEISRIEEIE @) focde fparherd i
EENEAERIEISINS (). . =T ST ERIREAERICIIE

©

The Channels/ Levels of distribution are: B
Direct marketing channel or zero-level channel

A

B. Dual-level channel or Single-level channel|

c  Exclusivedistribution -

p. Reverse flow channel

g Selective distribution PR

Choose the correct answer from the options givenbelow:

1 ABandC (2 CDandE () ABandD 4) B,DandE
For S €

A e FauE S a1 Y-S A
fo-a S T THA-TR oA

B.
c. 3 faa
p. foeim yaTe = e
E  SEIH [aa
S e T foreredt & A W@ I H A RIS
1) AB3IRC @ CDSRE A,BRD 4) B,D3RE
Match List- T with List - IL
List-1 List-1I
Name of Theories ‘ .y} Propounder/Author
A Theory of comparative Advantage == -1 Michael Porter
B.  Theory of competitive Advantage > 0. David Ricardo

C  ThePurchasing Power Parity Theo M. AdamSmith -
D.  Theory of Absflute AdvantaZe *y? IV.  Gustav g‘;;l;ei .
e - 1% e gl - 11 1 el it :
et -1 |
fegiawr=m™
A goHREs o w1 fagid
B yiaead e =1 fagid
C  wu ufs s fasia ¢
D quf ey = faid PN, TR R

9
)

Choose the correct answer from the options givén below :

9 e g foreredi § W WE S =T Hf. Ty

. 4 ]
@) A, BamCIv, DI @~ ' A-ILBLCIV, D1
®)  A1BImCIV, DO @ AJILBLCIDIV

29
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i is the valy
. .1 ratio=15:1 Whatls €y
98.  Working capital of a company is Rs. 6,00,000 current ratio is 2.5: 1, liquid ratio

i 000
inventory ? @) Rs 2,00,

000
(1)  Rs. 6,00,000 (2)  Rs. 10,00,000 (3) Rs. 4,00, _15.1%1 AE-GE F A

fomelt st i1 srefeiier st 6,00,000 €9C ¥ | T STIUR 2.5: 18, T 2000007
(1)  6,00,000 F9T @ 1000000%9T  (3)  4,00,000F9T (

?
99.  Inwhichyear the General Agreement on Tariffs and Trade (GATT) was set up @) uly 1991
Al October1947  (2) November1964 (3) January 1995

maﬁ%ﬁmaﬁtmﬂﬁﬁmm(ﬁz)wﬁﬂmwm*, i
(1) TR 1947 (2) TEIR1964 () SFERI1995, @

() which one of th
100. A committee was set-up in 1993 under the chairmanship of RNM_?LhQILﬂ to evaluate ¢

following ? w
(1)  Banking Industry (2)  Small-Scale Industry
(3)  Mutual Fund Industry {4)  Insurance Industry,
. 4 . 7)
Frforfe 3 & e geria w01 % Ry 1993 3 sTRw, edr 3 Sreer § e St wifid Hi T o6
(1) ST SEm . @ agwEm
(G HIIETS @ s
101. Match List- I with List-1IL.
List-1 List-1I
Term Meaning e

A.  Incomeeffect L A table showing the different total quantities of a good that
\ =7 . consumers are willing'and able to buy at various prices over a

given period of time..¢* , ¥
A table showing the different quantities of a good that a persor i
willing and able to buyata given periodof time,
The effect of a changesin price on quantity demanded an individual
arising from the consumerswitching to or from alternative products.

B. Substitution effect

C.  Demand Schedule for

D.  Marketdemandschedule * > . The effect of change mfmce on quantity demanded arising f
larket dem % the consumer‘becomh&bét'ter orworse off as a result of ;Lfﬁa;?
et - 1% T g - 1 7 FHerm shifem :
-1 qet-11
= aref |
A FETE L T '”?ﬁwaﬁﬁﬁfm AR <9t & Fordy i foreh
‘ maaﬁxﬁ@ﬂm%r@%aﬂwaﬂﬁﬁqm%
Tt S fohelt T =Y iy oy
B. Whway9E L & o o AT SR ] R ) s
| i & wftedHi & T 45 Eib
D i s Iv. e R RO S % e o o @y 3 e
: Wg@qmmaﬁmﬁvﬁaﬁmwﬁ
;h%();;z“{é Correct‘ answer from the options given below : —
Tt ¥ ¥ Wl T o e A €3y
(l) A-Il B'H-r C—m, D-IV A-IV, B‘HII C-II,"D'EI £ i
(3) A'ml B'IV ’ C-I, D-I[ ( 4) A-—II, B'I, C'I-[I/ D'IV
e o 008



102 Match List - I with List - IJ.

List-1I List - 11

Institution Year of establishment
A, Industrial Finance q L 2006

Corporation of India (IFC1)
B. Industrial Development Banl:\ IL 1964

of India (IDBI)
¢, Industrial Credit Investment . 1955

Corporation of India (IcIcn
D. IndiaInfrastructure Finance IV, 11948

Company Limited (IIFCL)
et - 1% W il - 11 P hifere :
‘\qﬁ'- I )& H\aﬁ- -1I

RIS L T ST A
A YRAE SEnfs fom e (1rCr) L 52006
B.  WRar 3iafes faeh % (IDBI) I 194
C  wRd il wrg g fmm (1CIC) M 1955
D. YRdE EEcEHl fad oAt fafies (IFCL) IV, 1948,

Choose the correct answer ffom the options given below :

= fou U foenedi H ¥ WE S T 99T HIT
- (1)  A-V,B-I, G-I, DI @  A-V,BICII, DI
3) A-ILBI,CILDIV ) A’ }11 B-I,C-IV, D-T

103. Which one of the following is rate of TDS on payment 1:'0 Contractor if the recipient is an individual ?

Frefafa § 9 $H-9 SHeER A gnqumsﬁap If TR U St &2

1 1% @ 2% 4 10% °
104. Arrange in proper sequence the steps of Financial Acco A
A Summarisation (B. Identlflcatlon and measures of financial transaction
C  Classification D.  Recording o
E  Interpretation of result g Alc D =
foritar SRl 3 =il oh1 Sfea i erefied w |
A UR-HiEwie B. fordta oes 1 fargiont oIk qeatas
C  ifisho D.  HURIUER
Choose the correct answer from the options given beloW "
A fow T el § @ HE SW A T AR |
) C,B,AED @ GCBD,AE (3)»; JB,D,C,AE & BDAGE
O .
105, «
The bailme ent of goods as security for payment of a debt or performance of a promise” is called :
(1) Bailment (2)- Pledge E (3) 4, Pledgee (4) Pawnee
" el g o7 AT ﬁw%m%mmmfﬁ i ﬁ TG B Sufre ! e o
M) qfrem @ @ 4  frefer
) 31 ’ 008



10 icv is taken 2
6 :me when pghc is tak
n which type o 4 the time WAL CY
ingurable in epresent at
i P i 1d insurable interest
. In which type of insurance shoul b

nly
Fire Insurance 0 =
(1)  LifeInsurance only /g; Life and Marine [nsurance only

ine Insur ly ?
e 3 e o e A
() S e e O e
(®) e W @ w

‘ consideration ?
107. Which of the following is/are the methods of calculation of ptk;l's;zz
A. v~ Lump-sum payment method B. ~Net assfiza J method
C.  Total payment method D.  Netrea Fa9
E.  SWAPrate method .

options givenbelow: {  Eonl
D Ay e Gy @ AnCEony
fFrefefed & & SiF-9 1 whea % w5t fafet §2 i
A, THEE Yar fafy B. fr enfia.fafu
C I g fafy D. % g fary
E. SWAP R fafy
T R T e § & ek 1 e i

() 9dA,B,C @ ‘¥eB,C,D @) *A,D,E 4) HadA,B,CE

- 108. Bankoverdraft payable on demand should be treated as cash and cash equivalent accordin g to which one of

following Accounting Standard ? @8

M) AS-3(Revised) (2) Ind-AS-7 3) Iégi‘%f&S-lO? 4)  Ind-AS-18
mﬁ@mmmﬁmmmﬁﬁmiﬂa@wﬁmaﬂrmwwmﬁ
(1) AS-3(T9A) (2) Ind-AS-7 . 3 Ind=AS-107 4 Ind-AS-18

Pl
()

109. Which of the following is probability sampling? S5 G'H 0 :
A Simplerandom sampling B~ Clustered sampling C  Quota sampling
Stratified sampling £ Snowball sampling
Choose the correct answer from the options givenbelow: ©_J | _
~A0) ABCEonly (2 AGCDEonly () a, B, D only 4  B,C,Donly

Frefafea § @ w- witewa wfedt &2

A IR AR ghigs B, e Wiieww C vy

D.  wxifw yfaed _E. . feuehgs (Fieter) ey

R o g feredt 4§ il o o |

O ¥9ABCE () %e€A,CD,E @) *EAA,B D ® s

Y Y
g ¥ -
%PM;?&;{?

110. Whenboth 7 . . N . ‘
sl Average Revenue (AR) and Marginal Revenue (MR) areinstrajoht |
tance between AR curve and Y-axis in the : § NS 5 .hne shape, MR curve will cut th

@ Midgle (@) Near to%ég?iuﬁng
-\(;2 aﬁgfaear toend ' (4)  Willnotcitanywhere '
. ™ (AR) 3l i | <ften Y & SR
1 #AHF el (2) TG
(3) 3% HHIY iy ' ; & el ot Eﬁ% fa =|3"T Faq
Y. 32 ‘
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|

111. A card is drawn from a pack of playing cards. What is the probability of drawing a king or yeq

112

\.:

v JPRE 15
u X L s X
i Vo L5 Ayﬂ/ it R - 4 26
= ¥ 2 T
ze e i L

—

T T F Uk W TH I Prepren ST ¥ 1 TR A1 sgwng FreRTe) S w6 Wi oo LS
1 30 16 7 i, 3
® L3 @ PR @ 13

which of the following is/are correct for formation of a company under section 3 of the companies Act, 2013 7

Seven or more persons, where the company formed is to bea public company.

A

B. Two or more persons, where the company is to be formed to be a private company. ="
C.  Oneperson, where the company to be for. med is to be one person company. (o
D.  Fiveormore persons, where the company forined is to be a public company. <
Choose the correct answer from the options given Bélow :

() A Bonly 2 B,Conly 44 A,B,Conly @ B,CDonly
fm’fqa?aqfuﬁwzmsﬁma%mﬁqwm%ﬁﬁmﬁmﬁwﬁf@ﬂﬁﬁﬁq—@w%?

T 1 Sife A, Sef o S aTelt S Tk st A ¢ |

A
B. amﬁww%,ﬁﬁmﬁﬁmﬁmﬁﬁﬁm%l

C U S, el 9 ST el S, T SR Sl €

D ta o sk SR, STl 9 ST Sel O (T HEe e o ¢

9 few e forered! W | W ST H A HI 2 |

(1) HadA,B ) %9dB,C ¥9dA,B,C  (4) FI@B,CD

The most popular forms of advertising does not include :

113.
(1) Informationalappeals @ -T ilevision‘adverﬁsing
(3)  Printadvertising 4) '.Online advertising
oo % el yafera w9 § |iEfod T8 87
() geEe T @ elifoem fomm
@)  Toe formr @) SHTTE famma
114, Who has propounded the Theory of Absolute Advantage” in his book ‘An Inquiry into the Nature, causes of the
wealth of Nations’ ? o
(1)  Alfred Marshall (2) .~ Adam Smith . (3) ), A.C.Pigou (4)  David Recardo ot= 'é;gf 7
ST e T R T R, e m,ﬁm 3’[1'55 REECN T‘f?ﬂ‘qw fAgid’ (Theory of Absolute
Advantage) gfaaiea faman o ? ¢ eI
1) shs TR @ Teufey (@ THEL @ 2fds R o
* IfEBIT = 1120, PBT = 320, Fixed cost = 700. What is thejvalue of degree of operating leverage ? cprr ! [2o
3R EBIT = 1120, PBT = 320, ¥ ST = 700, warrer SHIee &1 fevht =1 7 s 2 2 - It
1) 35 2 56 @) 125 W"1.625 gpr 320
. R ” 060 O"p
Y 484 ez et 1
L2 ¥ 2 e 008



h of th reer P evelope othwell a ’azan’s)
devel d by Rothwell and K ‘
116. iIcho p y

: Approach
A. The Traditional Approach B. Car ee; g&(l)tellll Agf)roach
|t C. Lattice or Network Approach : .D. ) lCart?e
Choose the correct answer from the options given below : 5 € Dotly @ ABCD
(1)  A,B,Conly 2 ACD only. ©) G s AN
- Freafafen § § B3 s deie 30 IS FR Ao ferenfia SHfter v fAfq
A WS B.  HeR gz
c RESRIRE R D.  HiCR & S
ﬁ%ﬁqwﬁw&ﬁﬁﬁﬂﬁwmwﬁm:

fEh
(1) e A,B,C @ %E@ACD () WBCD @ A

AT A llowing ?
117. The balance of securities premium account cannot be utilized for which one of the fo g

() Writing off floating cost (2)  Writing of discount on issue of debenture
._3)  Dividend distribution (4 Bonus 1ssue T

uﬁ{ﬁaﬁﬁwé@%sﬁmﬁmﬁaﬁaﬂﬁmm_WﬁWWW%?

() TR o st () Fore e el sreen srqera

@) Y faa @) = i

118. Arrange the Marketing Lo

istics decisions in 1 Proper sequence beginning from start to end.
A, Order Processing B

Inventory
Transportation

the options given below :
(1)  A,B,CandD LY A,CBandD 3) ﬁB‘fp and C 4 CA,BandD
Wﬁaﬁm%ﬁﬁﬁwm@mwa@mﬁmjﬁ :
A ITRY e B E-gaD
C. VMR, 3o wrafei D. e ()

| ABDIRC C,A,B3iRp
Who held that both demand and supply were equally important in deie-tmilling_thaprice ;
O Pigow = o hia

t?
@ - . (3) Ke).mes ) Marshag
T ey eﬁﬁm%‘i@ﬁwﬁm ﬁw"ﬂaﬁ_“q“' WQW%‘?

M (2 fag @) =g @ iy
120, Which of the followin tr tions are shown as investing activitieg 1n | .

companies? b arﬁc_—___ Seeh How Statement by f,lfir
Cash Proceed from sale of fixed assets B. Igeggyment of loan taken
ebentyre purchaseq : - Loan‘advanceq
= Purchase of Patent NS

y ; 3 ﬁ;é“D
ﬁaaa-wa"(a?fqﬁﬁ’ghmy " T e

N & oy ,B,D,E()nly |
: . Wmmmﬁawﬁémmm% . :
A ﬁw%ﬁﬁﬁﬁmmﬁﬁ B. ﬁﬁ%mm@m T 2
C T T sy D. iy
ﬁ%ﬁqwfa%@fﬁﬁ?@wwm%:

>

00¢




V

1 Match List - I with List - II.

12

List -I (Methods of risk analysis) List - Il (Meaning)

A, Sensitivity Analysis L A computer generates a very large nqn:)llaer of scenarious according
to the probability distribution of variable.

B.  Scenario Analysis IL.." Provide a way to present different possibilities so that we can be

' sure that decision we make today.

c.  Simulation Analysis IIL. ;" Analysing the projects NPV (Or IRR) for a given change one variable
ata time.

D. Decision Tree Analysis IV} Analysing the project NPV (IRR) for a given change in combination
of variable.

et - 1% W9 Gt - 11 e i : ¢ )

et - 1 (Sfem faveror & dfe ) I - 11 27ef) |
A GIEAREM Tt L S = % Wifenar foaol 3 TgER 9! Se H Sfed §¥9 3¢9
HE T :
B uigw fawemu I ol et g o st Ofd g s © e e e g ek
o -, TR 371 Frotar fofan <t W :
C g faveor :,i‘f;WWWT%MWﬁWﬁaﬁ:r%ﬁmﬁ?ﬂWNw (AIRR) =1
, S Lk as!
D. fufa gu fawivm V... = & g H 9Rad & foe aRE@sm NPV (IMIRR) 1 faeemsor s
Choose the correct answer from the optiéns‘i iven below :
ﬁﬁ?wﬁaﬁﬁ@vﬁ@mmwaﬁﬁq :
()  AIB-I,CII,D-IV i @) A—IV, B-III, C-1, D-II
()  A-IB-IV,C-I, DI 4) AILB-IV,CI,DII

122, whs e
Which one of the following is true with res pect to working capital finance ?
M Liquidity is higher in aggressive approach ¥~ ’

@ Profitability is higher in conservatﬁ}e‘f?piarmch -

®) Liquidity is lower in matching apf?;o;‘ch 7

@ Profitability is higher in aggressive 4 pbroach o
e 3 3 air1-en Frdein o o o 37

WAL

W ST e # e e R
@

®)

35 008



key assumptions. They are:

i i d on few
123. The concept of productlife cycleis base

tunities and proy,
imited li Gk g t challenges, Oppor |
A Productswies hm;t . hfl? distinct stages, each passing differen ]
. P timpregnable.
B.  Productsales pass L brandalmos
T S5 et ’s mind making
tlct) m:jzlil:s most desirable position in consumer s counteratiack.
C. oc sibl

D. Iterectsoutposts to protecta weak fron; :)}: ::pgzrt ap
E. Profits rise and fall at different stct:ges 0. bzlow |
C.hoose the correct answer from the options glvler\ o
(1) A,BandDonly (2 BC and D on ‘y g 4
A AR 1 G sitad 2 gl P i
B mwmmww%mﬁquﬂmmmﬁm:;%%}

C TSI % fmm § W et feafd S R 3, A AT

D. %@WmﬁTwmmﬁqﬁagﬁmﬁW#%m%l

E T % fafirs swoit 8 et e ok gem

ﬁé%ﬁ%%ﬁﬁﬂémmmﬁw:

(1) %@ A,BaiRD (@ F9AB,CHRD (3) FH9C DIRE @) HIdA,B3IRE

124. Which of the following exemption or deduction will not be avaﬁaﬁl_é, if assessee opt to be taxed under section
BAC for assessment year 2024-25 ? N

') __;'-‘-‘ | nl
C, D'dnd E only 4 AB and E only

i N
A. House Rent Allowance. B.  Leave Traﬁgl{@oncession.
C Standard deduction. D.  Taxon En}ﬁ]dyment.
E Interest on Ioan taken for self-occupied house property. :H'{J
Choose the correct answer from the options given below : gx}‘Q

() ACDEenly (2 A,BConly () A B:D)Eonly
AR Freieer o 2024-25 % vt FrefRe sm 115 BAC % siia HS At
Frfefad & § SH-o gz o w9 svemy 7 a2 '

A IEEfEmET Y B, ORI HE
C.  AFs %Rt D UTRWE
E -y srewde 7 wafa & fe, f T w W e
‘i\%"mmﬁwﬁiﬁvg’rwmwaﬁﬁm:

W FEACDE @ FmaBc @)

4) B,C,D,Eonly
N HTIM F frererdt w51 gom e

08 @ T CD,E

’

125, Axrange the sto

K Selectionp': ;ft selection process from beginning to eng. EQQ”@} '
(I::: hysica] Examination D %2%::;?::5 : Apphcation
= pprg;val by appropriate authority ang placement %ﬁ;ﬁ
o NS o P A Co
A T gy ' ‘ -3
; il , B. J:ﬂlﬁ?ﬁ i St
3 - D. WA
g i IR T Hees
Choose the correct answer frop, the optjq, l |
b ﬁq = N e ns given below
(1) . ACD,B, ) B,A,D,C g CB
r:/ ; % D, Ar D E (4)

00



126 Match List - I with List - I1.

List-1 List-1I
Term Meaning
A Scarcity 1. The act of using goods and services to satisfy want
p.  Consumption 1. The total amount of output in the economy
¢, Macroeconomics Il The excess of human wants over what can actually be produced to fulfill

their wants.

D. Aggregatedemand IV. | (The branch of economics that studies economic aggregate the overall level
_of prices, outputand employment i in the economy.

T - 1 91 g - Haﬂﬁqamﬁﬁ«rq
-1 qﬁf I1

A g L a0t Hafe ¥ for s ol demelt & s b o
T/ ST IL. aweisqaw H il ot et A
C  uufe sredvms 0L wﬁmﬁ%fﬁqwﬁamaﬁ@ﬁwqﬁaﬁamﬁaﬂ
AR .

D. THAHM IV. e Tehed, 31 peree § e, T=eye TR USHTR o Wul T &1 31ea
T ATt ST ht I

Choose the correct answer from the opgh:;ns given below :

T fo T foreredt & e S S _ :

() ALBILCJILDIV %“’ (@ AJILBIV,CILDI

@ AILBILCIV,DII ng (4 A-IV,B-II, C-II, DI

N
7. Ar Tange the following steps of the process of hypothesis testing in the proper sequence.

A Set up null and alternative hypothesis B. Establish the decision rule

C Select statistics D.

Select the level of significance
Es

Perform computation and draw a conclusion

%ﬁmﬁm%ﬁmﬁf@awﬁaﬁsﬁawﬁm&mﬁ:

b e e e A fofa e ey
C wiferm @ = = D ST R
R

“hoose the correct answer from the oph ns given below :

%hmﬁmﬁ@uﬁwmmaﬂm

Y'ﬂ) ADCBE - (2 DA&E'B ®)  DAGCBE 4 CDABE

| 37 008
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128. Match List -1 with List- IL.

List-1I
List-1I Relevant Sections
Provision under the ‘
Indian contract Act, 1872 | Section 31
A.  Contingent contract [[ Section 15
B.  Bailment M  Section17
C.  Fraud IV. Section 148
D.  Coercion -
e - 1% e G - 11 1 Fretr whifore '
e - 11
it -1 ol o
WAt wiaer ffam, 1872 | Suse Wﬁm Lt
A THfETE G A
B 3ufym IL HRT 15
C e m w7
D. <EE/9e IV, 4148
Choose the correct answer from the options given below:
ﬁ%ﬁqwﬁaﬁﬁﬁaﬁwwwaﬁm:
<) ALBIV,CIDI (2  A-LBILCI,DIV
@)  A-ILB-ILCIV, DI S 4  A-IV,B-,CI,D-IT v
129. Match List - I with List - II.
List-1 List - II e
Determinants of Meaning
Service quality ,
A.  Responsiveness L The Provision of car;ing,:;jndividua]jsed attention to customer.
B.  Assurance I.  Theappears of phy:sicgléfacﬂiﬁes, equipment, staff and communicat
" materials
C.  Empathy I The knowledge and.courtesy of employees and their ability to conv
< 1 trust and confidence.
D. Ta‘ﬁgibles / V. The wﬂ]jngness to h‘?lp customer’s and provide Prompt service
qé’r-lésmuqﬁ’r-nmﬁmaﬁm; te N Lo,
T-1 e - 11
A e 3 e ayet
A L Susiiee it 3@, A e
B. TR I sifees e, ey
§ E’ﬁ I wfenf o1 9 IR FUIERE favarg
Choose the/c?:eTansw e 2 S s 3ﬂ-{
er from the optiong given below P
ﬁmmﬁmfﬁﬁﬂﬁmmwm, A
JJ,)/ A-IV,B-l, C-, D-IT @ AILBIL C—l]]j):‘ﬁ}
)  A-ILBICIDIV |

@ . AT BLCIV ‘ijiil

7

38 "



p—
/f @ Which of the following is/are key Components of a Third Gengeration Balanced Score Card2-
A Destination Statement B. Strategic Objectives

C Strategic Linkage Model and Perspective D. Meastures and Initiatives

E Strategic growth Diversification
Choose the correct answer from the options given below :
(1) A,B,D,Eonly (20 A,B,C Donly (3) B,C,D,Eonly

ﬁﬂﬁf@ﬁﬁﬁﬁ?—ﬂmﬂaﬁu@jﬁﬁﬁwm%mmm%7

4) A,CD,Eonly

A i TS/ S B. TRt Ioa¥
C Wﬁﬁf&?ﬂgﬁwaﬁrgﬁeﬁw D, 3ug aik v
45 feg T e 1 2 W g T
¥9€B,C,D,E (4 HaAA,CDE

Had A,B,D,E (2 éa_q’aABCD 3)

3 ]

(1)

131 Match List - I with List - II.
EiSist List- 1T

v
Head

Iteam
Interest accrued on Investment ﬁ Current liabilities ‘
Bank Overdraft | /// Property, plantand equipment

A

B. I

C  TradeMark .  Current Assest Inventory

D.  Stores and Spares IV.  Current Assets other than current Assets

ﬁ-lé?maqa'i-naﬂﬁmﬁaﬁﬁq;ﬁ
w1 :

by
A fow W Iufed =

B. % SOigiwR

C ég Tﬂé)‘ 5% 4, .
D. e 3iR srfaftem ¢y V. I STkt S STeT a1 =] sfat
Choose the correct answer from the options given below :
T 10 TG Fedl & @ W SR 1 = FifoT |
(1)  AIV,B-I0,C-II, DI (2) A-B-IV,CII, DI
() AIV,BLCImLD-I ()_(A-V,BLCI, DI
B, Arr :
ange th
N ?e e financial institutions according to their year of establishment from earlier to later :
mperial Bank ¢ 92/ = B State Bank of India rosc
Life Insurance Corporation of Indla J,f D.  UnitTrustofIndia _., 759 = =

Regional Rural Banks (725~ ¢
ﬁﬁua@nﬁﬁaﬁ%ﬁ@@wsﬁm%ﬁﬁ;mwﬁ ;

b Pl i )b R
p TSmO D fegswwm A O D E
o e A\
°5e the correct answer from the optg.c.ms“glven below :
0 hmﬁmﬁﬁﬂé’rm?ﬂwm
Y . ABCDE @ CD,ABE 3 BEGCAD et

b 008
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ess without specifying any period of time and continues to exisy
St

133. “If a partnership formed to carry ona busm
long as the partners are willing to carry” is called :
(2)  Partnership at will

(1)  Partnership for fixed term
Partnership for long period

(3)  Particular Partnership @)
' “ﬁWHWWWWWW*WWWWm%w?ﬁmﬁmﬁ
- o 1 A Y R EE L()
) fr ety ¥ fa wRe (2)@?@%111@%@
@ ety & ferg WETd

) - faftre W

134. Whatis not included in Demand and quantity demanded ?
(1)  Tastes and desires of consumer for a comnig&ty.
(2)  Expenses of the consumer. f
(B)  The price of related goods.
(4)  Substitutes or complements.

Wt 3wt 1 w3 o gt w@ 32
@ Ww%mmmaﬁaﬁmaﬂxmm
(@ S e -

() Hafd awg3l g
(@ i a1 Qa5

135. Arrange the following international orgamsatlons accordmg to their year of formation from earlier to latest.

A.  General Agreement on Tariff and Trade (GATT | ¥¢ ot

B. -
C.  United Nations Conferenc

D.  Assistance to States for De
Pt i e 1 8 T, T A S
A W R sl s i (70 NP
B, v R e (eetei) C U
- G NI U SR i ferepr e (STRerS)
- D. mmmmmﬁﬁm%mwﬂm(wm)
Choose the correct answer from the options gwer:;b?lcgw ' el

ﬁmmﬁmﬁﬁuﬁmmww ah
(1) A,B,C,D @ _. ACBD 7L(3 B,A,C,D 7(%) C,A,D,B

World Trade Organisation (WTO) 197 S
e on Trade and Development (UNCTAD) -( 764

veloping Export Infrastructure and Allied Activities (ASIDE)
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136. Which of the following Statements are correct about Regional Rural Banks ?
The first RRB’s were established on October 02,1975. ¢ —

A.
B, TheRRB's Act of 1976 is applicable. -
C. The minimum paid up capital of RRB’s is 10 crores.
i 4 i i f Goa and Sikkim.
D.  TheService of RRB’s are not ava:lablg in the state o SR T
E RRB'sareowned by Central Government, State governments and the sponsorer ban proportionof , _

50%, 15% and 35%. )
ions given below :

Choose the correct answer from the options given BTy

ABCDonly (2t B,C D;Eonly @A, B,DEonly () AG

(1) '
'%mméﬁ%aﬁﬁﬁmﬁf@aﬁﬁﬁa—ﬁmﬁw%?

e TR 2 SRR, 1975 H ST F e e

o TR SRR 1976, SRR/ AT E1

c RETE H =AY I et 10 TS T

D. ST 3 e i i R T # STer T € ’
E mmmwﬁaﬁwm,mmﬁaﬁmﬁa%ﬁ%wmz50%,15%3#’!”{35%%373‘47?”3%'
ﬁmmﬁwﬁﬁ@uﬁwmwm:

(1) Fa@ABCD (2 FaB,CDE (3 ¥97A,BD,E (4 H90ACD,E

137. Match List-I with List - II.
List -1 (Pricing) ‘

A Mark-up Price

B.  Targetrate of return pricing s,
C.  Economic value to Customer Priéing:@é

‘List - II (Meaning)
Starting with rate of return objective and then setting price
that will yield desired rate of return.

Adding standard overhead cost and profit.

Firms disposing off excess inventories or used goods.

. . \
D.  AuctionPricing e" . Adding host of inputs such as buyers image of the product
\_'} performance, warranty quality, customer support and other
‘ softer attributes.
il - 1% T e - 11 1 Firer hiferg :
it -1 (qeaT) ~IETT 4 geft-m(avef) oo
A i ged LD 1 mmammwmmmm
_ ATl Je ettt sy :
B. ®) e
At wiwe g OO 0L e WY @ ok sy siree :
C SR ot SMh e AN AT ) M el BT afererer -y m‘
D.  det ~ o i 1 TRl 1 Freer
N\ : | =i, TS, SN Erar 31
. QY 11 5 ARl St ey st ) ey
Choose the correct answer from the optfgﬁms‘“"."given below : )
T T vt #-% W SR =TT FRAT -
() ALBI,CHI,D-IV (2 A-LB-IV,CID.m
vl ALBLCAV, DI - @  A-V,B-IL,CI DI
Y .
41
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is not charged to tax ?

138. Which of the following income from house p r(]);)ertyProperty held for charitable purposes.

Farm House. 1
C More than two self-occupied house. ~ D.  Place of ex-ruler.
House property of registered trade um'(_)n.
Choose the correct answer from the options given below : ,
(1)  B,CD,Eonly (2 ACDonly () AD,Eonly
T& Hafa W frefafiaa # § @S-t o F R/ RA 7 87 . stk
A FhE B eyl & fere st
C Y s w-frafud T8 D oi- R 1 7

E  Yoilpd 59 ¥ i 78 Hufa

@ A, B, D, E only

+ T U ferhedl o & W I B w9 R | e i
) FFBCDE (@ Fa@aCDON @ F@ADE (4 FaABD,
139. SUGAM is also known as : A
g %1 Fefafed am § ot s s ? )
(1) ITR-1 @ ITR-2 (3 ITR-3 ~¢4)  TIR-
140. Match List-I with List - II.
List-1 List-II
Deduction Related

Section 80 DDB L Deduction in respect of Contribution given by.companies to political pa

Section80E<—— | _IFF> Deductionin respect of rent paid S .
Section 80 GG — >II. Deduction for Interest paid on Ioan taken for pursuing higher educati
v LIy

A.
B.
C
D. Section 80 GG B Deducﬁé‘g‘@ respect of Medical treatment
G - 13 1o Gt - 11 7 forer iR - b i
it -1 it - 11
N AR
L ot g1 Oerifas <@ i iU 0 dhem & wey § St

A HI80DDB ,
B. HRIS0E 0. § R o deiyr & et
C  ¥mW80GG I I=oR O 9T & o forg wevr R a5 3 ey & et

D. HW80GGB V.  fafe TR % gy § w
Choose the correct answer from the options given below :

e fau T fereredl & 9 WET ST T FI HIWC :
(1)  AJBII,CII,D-IV (2 AJLBIL, %LI D-IV
o3  AIV,BILCI, DI : @  ATLBIV,CLD-I

. ion No. 141 to 145..
the following passage carefully; and answer question i i b :
el I:trgducﬁongol} Corgorate Goernance ina Company brings order and methods in decision making process ar

i bili is the goal and role classification emerges. The Co ill focus 0
ho should own th onsibility. That s the goalan : 8e: mpany w
?t:mi:ns vision a‘gg no(t3 ;ﬁ;ppersonalt)llikes and dislikes of a few top officers. The benefits of corporate governance !

difficult to quantify in short range. Y '
Accounting jugglery and showing profits give a Company short term gains but they are not long term policies
financial credibility. True financial performance of 4 company, openness and the governance policies give investo’

confidence. L' K
The unethical policies or mismanagement by CEQ or director of 2 company will be exposed by adhering

g Ul . : . . . svoctor
corporate governance principles. Corporate governarnce will throw light on excessive remunerations given to dire

.
[}

or CEOs. Itimproves investor confidence and relations: B
! ) ) 2
The occurrence of frauds and mismanagement can be detected early for remedial actions, It is also agreed th ’

: X e
system canremove fraudulent practices fully. Corporate govgrna{lce isan open dem(?crahc systen}. They mgy ZPr’I; 2
Iong winded or time consuming or individual decision making is hindered. The risk of fraud is much bigg

damage to a company.
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AT W 37 W 141 9 145 w7 S AR :
fereit St B IUNE SR Y et § Foofam wiman & srafer aik
ﬁﬂmaﬁ%ﬁm%mm%ﬁw
FATET T | TE T ST et srffenron o1 Sqorel & 1 o) i geeereme o e SR AHE T 33 5
Mfmﬁaﬂtgﬁz/ﬁmw W%‘l‘ﬁﬁ;ﬁjﬁlaﬁrﬂtaﬁw%wsﬁﬁmﬂﬁﬁmmm%l

é@mmﬂaﬂ?w“@ﬁ#ﬁﬁMHﬁ sTerafy & @t firer & uteg A faia fovaerftaa % o ety
st 1 1 et Sl 6T ferier e, Ry s s Sfeel R 1 T S B T

Wﬁwwwwvwwmaﬁmmmﬁmﬁmmwmﬁm
bl 1 A | RN AT Frvr) a1 T 1 v Srerer S/ afterfered T e S | 71 fordrmes i 3in
g R A T ple

e 2% S ST o e 3 e e ) g ST e 1 78 o ot A A
ol ot e Y sl <R T e T & iR STTET T REH eI Fone €1 o T
mm—@ﬁ?ﬁﬁmﬁm%mwﬁaﬂaﬁvmaﬁﬁﬁm%l dirneret S o e =1 SITEd =gd 791 81

141. How does corporate governance help in exposing unethical policies or m_ii,m’axﬁggm,ml_t_illg company ?
(1) Bycompeting with large sized companies
) Byfixing responsibilities and promoting openness
(3) By focusing onshort-term gains
(4 By promoting single-entry system § A
T sthrme foRet ot § RERsEwR aﬁmﬁﬁﬁmggéqummﬁﬁmm%?
(1) foremTet ST R et H gl AR , , n
@ e gfiie e SRR Bl s S
(3) IreqmEry A W e TR )
(4)  TH-TORT O I G SR
o0
142. How does the passage describe corporate governance as a system it
()  Timeconsuming and ineffective
() Hiding the risk of fraud
(3  Anopen democratic system with some drawbacks
(4)  Perfectly capable of removing fraudulent practices
T e yomedt & w9 H HRARE e @ fFg TR faarfom sxar &2
() E-weien oK st |y
() et & gy B gu Fe-.
®)  Fo i & WY T ISRl Foneit
@ e FE-srarE S g H ol ga

143 ¢
. According to the passage, what 1is tlﬁbenefit of adhering to corporate governance for investors ?
] . . ——————
() Assumed returnon investments (@  Gainon liquidation

Confidence in true fmancfal"pgrformance (4)  Insider information

W%WWWWM AT FXA QAT Sl T Ay €2

0w w gffea wfawd 2 . IREHTE way
) we forctrar et # forear @ Ay stafes T gE
Y
43
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144. Whatis one of the advantages of corporate governance mentioned in the passage?

(1)  Fixing-up excessive remunerations for directors and CEOs
(2)  Discouraging individual decision making

(3)  Promoting international accounting practices

(4)  Improving investor’s confidence and relations -,

s sfeerfem T s S e 3 TR E L
() Frwe siv déeh & ferg arfirera o Tfafer 7
@ =aferm fol vl = g 9))
@) Sl i yenell = weared )
@) TR ¥ R ik wae ¥ gur we
145. Whatis one of the primary goals of introducing corpr‘(;r‘;té governance in a company ?
(1)  Maximizing short-term gains :
(2)  Bringing order and method to decision making

(3)  Window dressing of financial statements
(4)  Implementing IFRS in accounting system

ferit ot & FRRE SAfeme & F0 & Wufos wedi § Y T d
(1) STy ATl StfieRad I

(2) Troia fmfor &t srafter ok fafie wom
@) Taxira foerol § Tt uftadq

(4) Gl YOel H IFRS 1 fSramae e

Read the following passage carefully and answer question No. 146 to 150.

Itis rightly said that “It is easy to dodge our responsjbilities, but we cannot dodge the consequences of dodging
our responsibilities.” - Josiah Charles Stamp, 1880-1941, form; ‘E_diijrector of the Bank of England. In this modern digitalized
world, businesses are required to be mindful both in terms“of what they are doing and how they are doing it. The
company’s brand is not just dependent on the quality of products they are offering to people but on the overall impact of

the company’s operations on the society, environment and the economy.

Their sense of Social responsibility provides them with a competitive edge over thleir competitors in a crowded
marketplace. CSR is a holistic and integrated management concept Whe_TEbY companies integrate their Social and
environmental objectives with their business objecﬁYes. It works on a lTrl_pIe ?ottom Line Approach. i.e, Company
focuses on3P's; People, Planet & Profit while addressing all the expec'tz.mons'of 1t§ s.takeholders. The majority of policy
initiatives in the country are driven by the objectives of equal oEPortumtnles, munmizing poverty and human deprivation,

focus on fundamental rights, etc. thereby leading to strong human development.

The choi will be going to affectand .inﬂuence our future generations, Despite all this
inequalty and ciogasey sl i, Thieyout, the Indian Govermert implementednew CSR guidelines. These gidelines
require Indian companies to spend 2 percent of their net profiton CSR. India Ii € fm’t country in the world to make CSR
mandatory. Including the CSR mandate in Companies Act, 2013isa great step of engaging the corporate sector in the
equitable development of the country. Earlier comp anies were rgqulred to spend 2 percent of profits to.wards CSR and in
case of failure to do so; they were required to give reasons. But as per the pr.esent amendment, companies are required to
spend 2 percent of profits towards CSR in the given time Jifnitor are required to turn over this amount of profits in the
funds which are run by the government, - OO0

The new amendment will require all the companies which qualify the provisions under CSR guidelines to spend
the specified part of their profits towards Corporate Social Responsibility without failing. Researchers have made an
attempt to study Issues and Challenges associated with CSR in India and also to determine various factors driving CSR
practices in Indian Companies.

‘;1
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Gﬁﬁmﬂ?ﬂ&ﬁm,1880-'1941mwamw%%“mﬁwaﬁqﬁif;, ]
EEHEEEC e wmgﬁmﬁmﬁwﬁwfﬁmﬁmﬂ?ﬁ
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el 1 ST FIaTet 1 261 2% Tewem o e #1 omem )
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146. What is the consequence for
amendment ?

(1) -TheyTfaceno repercussions. © -

() They must provide reasons for their failure

()  The companies operations may. be closed for a specific period

(4)  Theyarerequired to turn over the profits to government-run funds
ﬂaﬁ#sﬁaw%mﬁqawm%mﬁﬁznaﬁﬁwmwmﬁaﬁwqﬁm RURER ol
M) 3% % wfrper witom & e wear £ -

V) ﬁmﬁm%mmmmaﬁu

©)  Tereit fefiree: srafis 3 for safsril bt wemer sie Fe s e 2

@ ﬁm—a’aﬁaﬁﬁr&fﬁwngﬁ/mﬁamm%l

anies that fail to meet CSR spending requirements as per the new
— - = hak

2}" According to the passage, what 1s|the ha@_@g%d by Josiah Charles Stamp'’s quote ?
| (1) Companies cannot avoid the consequences of neglecting their responsibilities,
Companies must be careful about corporate governance.
®)  Social Tesponsibility has no impact on a company’s brand.
\ € consequences of dodging responsibilities are immediate,
F IR, Sifaet e =TT & Her grI fore W forg W ot fean a2
TR ST eI @ SFTE 3 uRone @ s e aed
“HfTe Y e R 3 A wee e =
ST SeraTtaes 1 St 3 Sts T o e o |
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